MA 154
Lesson 12
Delworth

Section 7.2
Trigonometric Equations 

Find all solutions of the equation.


a)
Interval [0, 2()


b)
All Real Numbers


[image: image1.wmf]  

cos

x

=

1

2



[image: image2.wmf]  

sin

t

=

-

1

2



[image: image3.wmf]  

tan

q

=

1

3



[image: image4.wmf]  

cot

a

=

-

1

3



[image: image5.wmf]  

csc

b

=

2



[image: image6.wmf]  

sec

f

=

-

2



[image: image7.wmf]  

cos

u

=

-

1



[image: image8.wmf]  

sin

x

=

4

p

5



[image: image9.wmf]  

tan

q

 

is

 

undefined


Find all the solutions of the equation.   [You are to solve for the variable.]
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